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BOTANY (g (aAIN) EXAM, 2010

Paper—II

[Time Allowed : Three Hours] [Maximum Marks : 3 0ﬂ

INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium other
than that specified in the Admission Certificate.
Candidates should attempt Question Nos. I and
5 which are compulsory, and any three of the
remaining questions selecting at least one
question from each Section. _
The number of marks carried by each
question is indicated at the end of the
question.

Answers should be precise and to the point.
Provide diagrams in the answer-book,

wherever necessary.

W%:@géﬁw%ﬁ?wwm—wﬁﬁ@ﬁ

g 9T B B |
1




SECTION—A

1. Explain any FOUR of the following in about 150 words
each :(— 15%4=60

(2)
(b)
(c)
(d)
()
2. (a)

(b)

Signal transduction in-Prokaryotes
Spontanecus mutatioris

RFLPs

Origin of mitochondria

Normal distribution.

Explain FISH technique and its importance in
understanding genomic relationships among
species. 30

Distinguish between :

(1) Smooth and rough ER 10
(ii) Ribosomes and Peroxisomes 10
(i1i) Membrane proteins in ion transport. 10

3. Differentiate between -

(a) Negative and positive gene regulation. 15
(b} Homologous and Heterologous recombinations.

- 15

(c) Exons anﬂ Introns. 15

(d) Transition and Transversion. 15
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(b)

Describe in detail the Agrobacterium-mediated gene

transfers in the development of transgenic crop
plants. 30

Describe the method of developing maize hybrids.
30

SECTION—B

5. Explain any FOUR of the following in about 150 words
each :— 15%x4=60

(a)
(b)
(c)
(d)
(e)
6. (a)

(b)

Secondary metabolites and plant protection
Photolysis of water

Calcium in plant growth

CDM

Progressive ecological efficiency.

How would you distinguish between enzymes and
co-enzymes ? 15
Differentiate between climacteric and non-

climacteric fruits. 15

Explain the process of fruit ripening and its

regulation. : - 30

Explain photo-receptors and their role in regulation
of plant growth. 30
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(b)

(c)

(a)

(b)

(c)

(d)

There are exceptions to the ecological pyramids.
Explain. 15

Explain the role of surface run-off in nutrient
budget of ecosystems. 15

Mention the attributes of a species to make it
invasive, 15

Describe the role of growth regulators in sex
expression of plants. 15

Mention the ‘hot spots® of India, and the reasons
to recognise them as hot spots. 15

‘Feedback loops’ are the regulatory mechanisms
that determine whatever changes take place in the
ecosystem. Explain. 15

6 (Contd.)




(@) wiafes RofMst 3 amar f 89 &1 oo R
' 15

(m) wRRufes @& v g5 ¥ gad woe B
qoT T Ffom - 15
(F) frht el @ 9= 7o =1 I AR St S
IwHE el 597 W T 15
(@)Wﬁ%ﬂ&ﬁ@ﬁﬁﬁﬂ@%ﬁﬁﬂﬁa&vﬁﬁw
& guig HIRT 15
(1) M@ & 7@ el (e whew) w1 Iead FRw
wmww%mﬁm%ﬁ%w
TATR ‘- 15
(=) ‘gmfrtrrtnw (Hrsa+ o) Rfymms gt
it RRuRE o7 ¥ @ aw ot afadSy @
ﬁraﬁw"ﬂ%%lwq&ﬁml 15



_Serial No. [ J [C—DTN—K—-CPB]

bl

Faata ==

TET-TH—IT
(e : eftm 2] | | 7= - 300

I
gea® g9 famet 3T Ao QT A wur 81
gol # IO I wremw 7 fo@ w3 g9ifew
forger Icota a9 ¥a9-9x F f3Far mar &
3T 39 AIYH FT TY5T Joodd IO-YHIF B
JE-953 9¥ 3fFa FAfdse s 93 #Fr arr
73T | JA-YF YT IJleatad vreHH & 3RTE
3y fFdt gremw ¥ for@ T ST 9T B AP
F& AT
gy g 1 3T 5 I &1 st 9l °
d yede @5 § HH-G-FH TF 99 A<
=2t T weIl @ Fox IR |
gl 99y & forw fFog 3F g9 F Ia #
faw g &1
JOY gE9se ud TG &
Bl JETEF B IAC-Jdd 7 A FArsqd

Note : English version of the Instructions is printed on the
front cover of this question paper.
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